Al

Ol &F A

Al A

0243 20ilaF ekl M
A EXlZel
I EXdE dig 2
Col: DMZAlS NHHY A (choy: @2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
EXl2te| ot 10,184,769 11,223,790 A1,039,021
= 6,436,428
e 99,000
= 3,3%,29%
= 253,046
EXE dalgt 28 10,100,589 11,144,005 1,043,416
= 6,436,428
e 99,000
= 3,312,115
= 253,046
oMSHe XHAH 8 929,960 415,030 514,930
= 435,000
[ 494,960
AE 2N | 32,750 32,750
201 er2 3| 32,750 32,750
01 AtR2te|HI 12,750 12,750
OEX2ell 42t A2 28 12,750
02 s3=gHl 20,000 0 20,000
OLEE gs58A28 S 22l 20,000
ANEESH AU 24 20,000 20,000 0
201 er23 | 20,000 20,000 0
03 Ar=EHI 20,000 0 20,000
OXH=3AU3 29 20,000
A& 2t 579,000 77,800 501,200
= 435,000
& 144,000
202 04| 7,500 7,780 A280
= 7,500
01 =LHA LI 7,500 7,780 A280
OXIH 2t 7,500
= 7,500
308 XXM SO0IH 571,500 70,020 501,480
= 427,500
== 144,000
01 XN BSELES 571,500 70,020 501,480
OXl 2l 67,500
= 67,500
OA+2 DISEEXN SHIA 294,000
= 210,000
== 84,000
OUXAE JHl & 2eMAl 2= 210,000
= 150,000




A EXlZel
MM ENBE MF5 7
e DASHe NEEE 28 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| & 60,000
KNEERERX ALY S22 5,500 5,000 500
201 et 3| 5,500 5,000 500
02 S3=gHl 5,500 5,000 500
OXNEERE X 2elAAE KX 2 5,500
NEAOILE & AR AE2) S JHA 30,000 30,000 0
201 er23| 30,000 30,000 0
01 At2t2ltl 25,000 30,000 /5,000
OXNAAOILE & AR A32 S KA 25,000
03 A= SHI 5,000 0 5,000
OXHel & & XAHEH 2tg3] 5,000
OS2 SEg ST MEAY 262,710 184,230 78,480
308 AtXIEMSOIE 262,710 184,230 78,480
01 HAHHBSEXRS 262,710 184,230 78,480
Ont=g =g ST MEAY 262,710
EXEMALY X 1,227,048 1,188,177 68,871
= 1,085,428
s 141,620
SSMAET 2l ALY RAI2s 6,300 5,200 1,100
201 Ler23| 6,300 5,200 1,100
2 s5=34l 6,300 5,200 1,100
ORSLAEN 22AIA- 2] 6,300
HEXNSAKIL 22AAE RA24 16,200 16,200
201 fet= 3| 16,200 16,200
02 S3=gHl 16,200 16,200
OHZEXNSAIKIIL 2eAIAE 2] 16,200
IHESAIKITFEALNI R ALS 1,091,428 1,090,907 521
= 1,085,428
= 6,000
201 er2 3| 6,000 6,000 0
= 3,000
== 3,000
01 At2teltl 6,000 6,000 0
OIHESAIXIE ZAKIE ALS 6,000
= 3,000
< 3,000
202 04| 6,000 6,000 0
= 3,000
= 3,000
01 =LHO LI 6.000 6,000 0
ONESAIXIIE ZAKIE ALS 6,000
= 3,000




2A:

EXl2e| 1t

MM ENBE MF5 7
el EXNEHAIY X3 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 3,000
308 AtXIEHMSOIE 1,079,428 1,078,907 521
= 1,079,428
01 XN BSELS 1,079,428 1,078,907 521
OMESAIXIIOE ZAKIE ALY 1,079,428
= 1,079,428
SUSHAL A== HY 3,120 3,120
201 Ler23| 3,120 3,120
02 s5=34l 3,120 3,120
OSAUSIHAL A= S CHLY 3,120
SSHAE 2LIHEH 2 10,000 10,000
201 er=2 3| 10,000 10,000
01 AtR2te|HI 10,000 10,000
OFSHAE ZLIEEHY 2 10,000
FH YA =5 MHIA 29Y 100,000 0 100,000
201 2= 19,000 19,000
01 AtR2t2lt] 19,000 19,000
TE QLA &= F AMHIA 2 19,000
202 04l 3,000 3,000
01 =LHAHI 3,000 3,000
O=8 otaef =8 MHIA 2 3,000
308 AXIHSO0IA 78,000 78,000
01 MAHHBSEEXS 78,000 78,000
O=8 otAef =5 MHIA 2E 78,000
SUHEE J|g 4= 1,940,998 2,523,384 A\582,386
= 506,000
= 1,181,952
= 253,046
AAHE FANSE(FIHE) HME 370,998 0 370,998
s 117,952
= 253,046
401 AIEHIZ SR OHYI 370,998 0 370,998
[ 117,952
= 253,046
01 Al&HI 361,498 0 361,498
OAIAHE BASE M 361,498
= 108,452
= 253,046
03 Al =2 THHI 9,500 0 9,500
OAIAIE EMNEY M (=E L =22) 9,500
dote SUHIE A 506,000 599,000 /93,000
= 506,000




2A:

EXl2e| 1t

MM ENBE MF5 7
Chel: SIS JIERE EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
403 REXIHMS K201 506,000 599,000 93,000
= 506,000
01 MXISHHE2EX 506,000 599,000 93,000
Oudte=E SUHEE +=FHA 506,000
= 506,000
SUHFBAAE RS 319,000 187,000 132,000
201 B2 AY| 319,000 187,000 132,000
02 S=29| 319,000 187,000 132,000
OBUFEANAE S8 FAE 139,000
O32UEE SEHEHS #AE= 180,000
T2 2 XIStAIE=S &Atg 745,000 680,000 65,000
403 XX SHMS K201 A 745,000 680,000 65,000
01 MXISHAE2ER 745,000 680,000 65,000
OZZ¢%t XIGHAIE = M Ats 745,000
SRHFA D|IPRHE 781,335 798,220 16,885
e 99,000
& 682,335
S2HFA QALY LRIZAF E EHI 257,127 244,768 12,359
308 AXISHMSOIA 57,127 244,768 12,359
01 AXSHHBMNELRS 257,127 244,768 12,359
OZZEFA CHHAIE LHIZAF & E| 257,127
29 S2EE HE 4R 20,000 20,000
403 XtXISHHMSKHE01H 20,000 20,000
01 HXISHHAE2ER 20,000 20,000
OZ9C2g® M &X 20,000
2O EHS T M= AX 99,000 99,000 0
s 99,000
403 XX SHHS 201X 99,000 0 99,000
S 99,000
01 AXISHHA2E X 99,000 0 99,000
O=ItXEHSE HIE &X| 99,000
N 99,000
ST ALTEANLAE RIS 2 29 55,377 39,173 16,204
308 AXISHMSOIA 55,377 39,173 16,204
13 BI| 2 SHICHeHE &&= ALY 55,377 39,173 16,204
O=F=2FEAAE RIS & 2 55,377
S2HFA JI2E HESE AL 202,831 208,574 Ab,743
308 AXISHMSOIH 202,831 208,574 AB,743
13 SI |2 SUHICHEH B AR L{EFALAH] 202,831 208,574 Ab,743
OZ2ZF4 JI2% sds A 202,831
CE2YHFA EE 30,000 30,000 0
201 L2 AH| 30,000 30,000




A EXlZel
MM ENSE MF5 7
e E2EFA DB E (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 30,000 30,000 0
C2EFA EE2E A 30,000
ASFAE M &X 105,000 186,705 A51,706
403 MR HHMSAHE01H 105,000 156,705 Ab1,705
01 MHXIHH A 222 105,000 156,705 A51,705
OAlZF=2u & 4X 105,000
Y M 4R 12,000 12,000
308 AFAIEHMSOIE 12,000 12,000
01 AX N B EES 12,000 12,000
OE2% Mo AX(Z2F0) 12,000
SESAEE JgtRs 320,414 409,035 /88,621
- EXUHE e=23 CIXE 2SAHY 320,414 409,035 /88,621
308 XXM SOIH 320,414 409,035 /88,621
01 XN BSELES 320,414 409,035 88,621
O= EXUHE et=3t CIXE A=A 320,414
CIXE XHEA= 4,430,000 5,511,000 21,081,000
= 4,410,000
= 20,000
KETHZAALY =& 4,410,000 5,491,000 A1,081,000
= 4,410,000
201 er23| 7,000 10,000 23,000
= 7,000
01 At22t2lt] 7,000 10,000 23,000
OXIETHZEAL AHH 7,000
= 7,000
202 04| 3,000 0 3,000
= 3,000
01 =LHNHI 3,000 0 3,000
OXIETHZAL AFS 3,000
= 3,000
308 AHXIEMSOIH 4,400,000 5,481,000 A1,081,000
= 4,400,000
01 XN EES 4,400,000 5,481,000 A1,081,000
OXIETHZAL AH 4,400,000
= 4,400,000
KNEMEAL EL 20,000 20,000 0
201 fer=3| 20,000 20,000
01 AtR2te|Hl 20,000 20,000
OXIHEEAL 22 20,000
CE4H D18t 25 470,834 329,159 141,675
T CEEE Zd3E ?E usiE 10,000 31,875 N21,875
201 er23| 10,000 31,875 N21,875
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A EXlZel
M HAPAZH|(EXI2e|D)
el JI2ZdI(EX2teln) c
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 38,400 36,720 1,680
01 At2teltl 38,400 36,720 1,680
O&EXlZe ge=d 38,400
202 0o4dl 38,400 36,720 1,680
01 =LHNHI 38,400 36,720 1,680
O&EX2e| ge=a 38,400
203 =4l 7,380 6,345 1,035
03 A=A 2= 3,600 2,565 1,035
OEX2el gf=d 3,600
M EA2HER=AH 3,780 3,780
O&X2ell 3,780




